Foad 2 A LBsY FI09FERSY 15
o iwENEFERNL(F-) AP #H(10/26-10/30)

- 203 ¢:+%  [CHI-CH4
B - B AARE |7 RIEE

B - B AAg |ITE- 5

B - # = w2 1k

% - ¥ w ¥iEs - 3%

¥ - # #d ¥ 1 CHI

B - BB R i ¥ - B R

® - # i ¥ g # 5 CHL 2.5
3 - ¥ Bz #- % CHI~CH3

3 - ¥ P s | EELe( RERD

RN FL5 P 4 ¢ [F]
B - A R R T2 14

B - g% B2 U1-U3 % i+

% - LE = w5 chapterl~chapterb
% - S S 2 # & CH1~CH3

B - %= ~a gk ¢ Bl L1-L2

% - A ok - B R

B - LY R T2 14

B - 12 € B U402 % %

B - L w5 ¥ 1% CHI

¥ - R 44 ¥ i 1-1-1-6

% - 203 iR B1~B10

B - B R b L 28 R ;i:;ﬁﬁa%&k—i
% - 1203 X TR A

B - (2 €+ Ea L1~-L3




s 2 A LBaY BI09BERY | BY

o i LFERNL(F =) AP H(10/26-10/30)

%= Bh R TP BV E

i S ¢ R |f

® = & P BAHRL |FE LA

® = ¥ B 3E ~ E2 FMRLI-L2
%= # BE U1402 % i

$ - # s B ¥ iF1-1~1-3
%= s i ¥ i 1-2

B = ¥ L % % % CH5~CH8
B = R >agik e LI-L2 %

® = ¥ >R g e L6

B = g% B~ T2 1 %

= g Xz ¥ ¥ frunit 1.2.3

= L% w5 A 3 1% chl~ch4

% = i= #5 B ¥irH A 1.2

= A iy f At %3k CHI-CH4
= g% i N ] # % % CH5~CHS

= g% i Nagib g B2 LIML2gy L

B = EE(R) | =4 FGEBR) |4 F (- )CHI~CH2

= EE(R) | FEABGER) | F- BT FER

= RE(E) | FTERBEER)|F-Fim

= L2F B~ w2 15

%= Br IR B B L1~L2

= 2 T wH 1-1~2-2

3 - ¥ B g CH1~CH3

® = PR SREIS- 4 (¥ i7+% % i )CHI~CH3




s 2 A LBaY BI09BERY | BY
Be rERAFBANL(FZ) AP H(10/26-10/30)

%= & EXaid TREEEY Y ED
%= & $508 $it BeF T4

® = & R Bliz Ry EER(FEA )
= # #* T2 14

$= # g U1+02 % 1%

® = ¥ 5 e

® = (2 )iz X% &4 ¢ B4 L5-L6

%= # ragik g HE L

%= ¥ 4% 535 3-2~3-6

%= B Fis B T2 2%

%= e A B2 U1.U2.U4 ¥ '** 7 ¥ 3
® = A S wET L EE LR

® = & F(L) ERPHmE 5 - BT R

® = & F(2L) g - Age

%= & EOGL) Fg4y  |1REED

%= &% ATE A ATHAEHE < 1.2

® = F(2)i= ERRY B At L3 & CHI~CHS
%= F(®)iz et # 1 %- R R

%= F(2)i= Fig R B4 L5~L6

® = B R B IR 2 1 ¥

3= PR A E 7 F3 Unitl-~3

= LY N #F gy |chb~chT

B = LN PR S |4 % chl-3

3= 283 g8 ¥ 13.16.L8




